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General Instructions

This paper contains four sections

Section A — Reading-10Marks

Section B — Writing & Grammar- 20Marks
Section C- Literature-20 Marks

All Sections are compulsory
Section A — Reading (10Marks)

D Read the following passages carefully:

(1) Children in India live in diverse circumstances and have equally diverse needs
and rights. Along with their need to be educated, healthy, and skillful, they need,
and have rights to adequate nutrition, to live in a safe and supportive
environment, have opportunities to reach their optimum potential and generally
lead healthy, joyful, and fulfilling lives so that they can become productive and
well-adjusted citizens of tomorrow.

(2) Children in our country face many challenges. Many of them are first
generation learners and face a myriad of problems throughout their schooling.
Due to the socio-economic and cultural determinants, they may be vulnerable in
many ways. Peer pressure and lack of positive role models may prompt them to
make unsafe and unhealthy choices. Anxiety and depression amongst the
students, have been a cause for concern in the recent past.

(3) Girls are more vulnerable and face discrimination at many levels; from being
unwelcome sincebirth to being pulled out of school for a variety of reasons.
Dropping out of school, low motivation for academics, and general disinterest
in sports and physical activities. are some of the problems that need to be

addressed.
(4}) Child malnutrition is rampant in most parts of the country. This has an adverse
 bearing-on their cognitive capacities,. learning performance, and physical-..
_ capacity. India is one among the many countries where child malnutrition is
" severe. Malnutrition is a major underlying cause of child mortality in India.
Trends in various nutritional indicator values and undernourished are shown

in the figure below:



# Study sample W DHS (2011)
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(5) Our children have the right to have good quality education, skill-building
facilities, a safe and supportive environment, positive role models,
rsmpowerment, and friendly health services and counselling. Gender sensitivity,
prevention of female infanticide and good parenting are some important socia
aspects that all children need to understand.

" On the basis of your reading of the passage, answer the following questions
by choosing the correct option: (1 x5 =5M)
(a) What makes girls' lives more challenging?
(i)lack of opportunity (i) lack of nourishment
(iv) all of the above

(iii) lack of respect
(b) What is the proportion of the undernourished children highest?
(i) 10% (i) 18% (iii) 15% (iv) 40-45%

(c) “Myriad” means
(i) countless (i1) identical
(iii) same (iv) distinctive
(d) What does gender sensitivity mean?

(i) gender equality (i) understanding factors of gender inequality

(iii) being biased (iv) illtreatment
(e) What percent (%) of underweight rate is recorded?

(1) 55%0 (ii) 25-30% (i) 10% (iv) 20-25%
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Il)) Read the following passages carefully and ahswer the questions given:
1) In ':30 10, Bang began to assemble a group of teens for a group he called the Bullet Proof
Boy Scouts. This went on to become Bangtan Boys, now JFTS, but the ingredients of their
Success were inherent in the original name. Bang intended to function as a celebration of
the kicls’ toughness and ability to withstand the pressures £ the world. But he also wanted
the band to be able to be sincere and genuine and not immaculate idols groomed amid
stuqiig culture, but real boys who shared their authentic pel{sonalities and talents with the
world.
2) “We came together with a common dream to write, dance and produce music that
ref_lects our musical backgrounds as well as our life valu:j of acceptance ,vulnerability and
being successful said BTS ‘s Jeader, RM in a 2017 interview with Times.

%) They frequently write their own songs and lyrics, and the lyrics are socially
conscious .They create and manage most of their own social media presence and tend to
focus on marketing entire albums rather than individual singles. They talk openly about
the struggles and anxieties of their career instead of presefting an extremely polished

image at all times.
'I

4) BTS an acronym of Bangtan Sonyedan or Beyond th Scene is a grammy-nominated
South Korean group that has been capturing the hearts of millions of fans globally since its
debut in 2013.Around a year after BTS debuted in 2013, their official fan club came
toge:ther. The fan club, called "A.R.M.Y.," is short for "A;‘dorable M.C. for Youth."

|
5) 1n 2018 the group became the youngest recipients of the Order of Cultural Merit from
the: President of South Korea for their contributions in spreading Korean culture and
language. Beginning in late 2022, the group is to take a hllatus to complete their required

1nilitary service, with a reunion planned for 2025. 1

Answer the following questions: | (1x5=5M)
a) How did Bang visualize Bullet Proof Boy Scouts tr be?
|

b) Who honoured BTS and Why?

¢) What is unicue about this K-Pop group?
d) What have you learnt from the Beyond the Scene and?

e) Find the synonyms of the given words from the given passage:

i) perfect — (FARA 1) ii) easily being hurt physically or mentally-

|
Section B — Writing & Grammar: 20Marks
III Write a letter to the Editor of The Times Newspaper, highlighting increasing
technological addiction among the youth. You are Sachin/ Sia, 2 resident of

Seshadripuram Bangalore:1 (WORD LIMIT- 100-120 words) 5M
I

(PARA2)

IV)Prepare a speech for the morning assembly on ANY|ONE of the topics: M
).You are Ram/Rita.

“My Aim in Life OR Unity in Strength” (WORD LIMIT 100-120

e



V) Thy: following passage has not been edited. There is one error in each line. Write

the incorrect word and the correction against each line of the passage. (1x5=5M)

One 'has been done as an example: Incorrect word Correct word

There was a hermit who live in a cave EX: live lived
far away from the village. He was know a)

to has magical healing powers. So b)

vwhenever anyone fall sick, the hermit c)

lse to treat them with his medicine d)

and bring them back to health. e)

VI) Ktead the dialogue and complete the passage given below with the help of the
given options. One has been done as an example:

Father : How was the paper?

Son : it was easy. I could solve all the problems.

Father : Start preparing for the science paper. You do not have much time left

Son : Yes father, I shall immediately start.

The father asked his son (EX:) how the paper had been. Son replied that (a)
He ((b) _all the problems. Father further advised him (c) science
paper. He (d) much time left. Son agreed with his father and said that he

(e) start.

a i) it had beer: easy

i) it has been easy

1ii) it has been difficult

iv) it has been very difficult

b i)can solve
if)could solve
ii)will solve
1v)would solve

¢ i) started preparations for the
ii) starting preparations for the
iii) to start preparing for the
iv) sfrarted preparing for the

d i) do not have
ii) cdoes not have
iii) does have
iv) did not have

|



€ 1) will do now
ii) wou'd start immediately
111) will do
iv) would do tornorrow
LITERATURE
V1I) Read the ¢:xtract and answer the questions. (1X2=2M)

| love to rise in 1 summer morn,
When the birds ¢;ing on every tree ;
The distant hunf.sman winds his horn,
And the skylark sings with me.
O! what sweet ccompany.

1.The birds siing in

(a) summer

(b) winter

(c) rainy seas on

(d) autumn.

2.0n a suminer morning the poet sings with
{a) the hunter’s horn

(b) the birds

() the sky lark

(d) the summer.

Vi) Answer the following questions in 40-50 words: (5x2=10M)

a) What made Princess September act upon her sister’s advice in the lesson “Princess
Septermber?

b) What did the Principal say to Hafeez, which influenced him deeply in the lesson “The

Treasure Within?
¢) Who was the winner in the fight between Suraj and Ranjhi, in the lesson “The Fight"?

d) YWhat is; the poem “The School Boy™ about?

e) Which action of “Jody”, proves that he was compassionate in the lesson, “The Jody's
Frawn”.

XI)Answer the following questions in 80-100 words: (2x4=8M)
a) The last of the: milk vanished in a swirl of foam and gurgling.

Iimagine yourself to be Jody from the lesson This Is Jody's Fawn. Write an account
expressing your feelings, when the fawn drank all the milk.

b)Narrate the fight between Ranji and Suraj in the lesson The Fight.
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¢ Write your name, roll number, class and section, date and subject clearty in

your answer script.
e Write the page number on the right-hand side top corner of each side of

the paper.
* All questions are compulsory.

 This question paper consists five sections.

1. Section A consists 12 mcqs of 1 mark each,
2. Section B has 4 questions of 2 marks each,
3. Section C has 4 questions of 3marks each,

4. Section D has 2 questions of 5§ marks each,
5. Section E has 2 case study questions. Each case study carries 4 marks.
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Section-A

|_SNo. | choose the correct answer. Marks |

)

,!
/f 1 Out of 100 students of a class. 30% like to watch T.V.
- Ho:w manv students do not like to watch T.V.?
L | a) 30 b) 50 c) 70 d) 60.

1lrn?=?
3} 100cm?  b) 1000cm? c) 10000cm? d) 1,00,000cm?

!

| i

| The ratio of 10m to 1km is 1
a)1:10 b)10:1  ¢)1:100 d)100: 1

" The height of a cuboid whose volume is 275cm? and 1
4 ' base area is 25cm? js:

é) 10cm b) 11cm c) 12cm d)13cm

5 if 50% of students are good at science out of 20 1
students. Then the number of students good at

science is: _
a) 10 b) 15 (4 d) 11 |

’ 6 | The area of the figure is

7

:!—7crn—b

a) 77cm? b) 154cm?
c) 38.5cm? d)22cm?

7. | The price of a motorcycle was Rs34,000 last year. It
’ has increased by 20% this year. The price of
motorcycle now is:

a) Rs36,000 b) Rs38,800
| ©) Rs40,800 d) Rs32,000

, 8. | The area of a trapezium is 40cm?. Its parallel sides are

| | 12cm and 8cm. The distance between the paraliel
:' sides is

( ja)icm b) 2cm c) 3cm d) 4cm




| Soép was éold fof Rs20 and if tHey bui; 4 soaps, the

S P =

seller offered that we can buy it for Rs70. Then what
would be the price of soap when we buy at the offer
rate?
a) Rs 12.5 b) Rs 13.5 ¢) Rs16.5 d)Rs 17.5

10

If the height of a cuboid becomes zero, it will take the 1
shape of a

a) cube b) parallelogram
c) circle d) rectangle.
111 If the Simple Interest of Rs226 is Rs84. Find the 1
amount.
a) Rs320 b) Rs310 c) Rs142 d) Rs132
Find the side of the cube whose surface area is
12 12400cm2?
a) 20cm b) 22cm c) 24cm d) 28cm \
J|
Section B j
The cost of an object is increased by 12%. If the l‘
13. current cost is Rs896, what was its original cost? |
j 14. | The area of a rhombus is 16cm? and the length of one
’ of its diagonal is 4cm. Calculate the length of other
, diagonal.
l
{ 15. | The cuboid with measure 12cm X 4cm x 4cm is cut into
|
!l' three cubes. Find the volume of one of the cubes. ‘
f Express the following into per cent. 2
16. (a) 1%
(b)2:5

————




Section C

[ . .
A cuboidal box of dimensions Tmx2mx15misto |3

} be painted excent its bo
| of the box has to be pai.ﬁgﬂ'_" Calculate how much area

/ 18 | g F}(sz;‘s_o is divided among Rakshith, Ravi and Raju. So that ’ 3
, f akshith gets 3 parts, Ravi gets 2 parts and Raju gets 5 I
| parts. How much money will each get?
| |
3

A rectanaular metal sheet of lenath 44
: cm and
11cm is folded alona its lenath to form a cvrllincllaéﬁa'lgﬁg
; tc_m and bottom of the cvlinder are covered by two
i circular metal sheets. Find its surface area.

|
Find the compound interest (compounded annually) on
; a sum of Rs6,250 at 8% p.a. for 2 years. 4 3

|
! Section D
|

|A shopkeeper bought two phones for Rs8,000
each. After selling the phones, there was a loss of
4% on the 1st phone while a profit of 8% on the 2nd
phone. Calculate the overall gain or loss per cent

| on the whole transaction.

22.

MNOPGQR is a regular hexagon of side 6¢cm. Find the
area of the given hexagon in two different methods.




Section E

Case study based ~ 1
. | A closed solid cylinder made up of iron is placed inside the

cuboid of 4cm X 4cm X 7cm as shown in the figure(ignore the
thickness of cylinder and

cuboid)

s S

-

=

b) Find the weight of the iron that is used to make the cylinder,
if the weight of the iron is 8g/cm?

c) If the water is filled inside the cuboid around the cylinder, |1
find the volume of the water.

x \—“’——_\
a) Find the volume of a cuboid.

24,

|
Case study based — 2

Seema deals with second hand goods. She bought a
second hand refrigerator for Rs5000. She spends RS100 on

transportation and Rs500 on its repair. She sells the
refrigerator for Rs7000.

Find

| 1
a) Total cost price. |1
b) Profit or loss amount. >
c) Profit or loss percent.

i
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. SINDHI HIGH SCHOOL, K. K.ROAD,BENGALURU-01
PERIODIC TEST 2 (2022-23)

Class: 8 SUBJECT: SCIENCE
Date:14/12/22 Marks:50
No of printed sides: 6 Reading time:8:00 to 8:10am

Writing time:8:10 am to 10:10 am

GENERAL INSTRUCTIONS:
* Write the name, roll number, class & section, date and subject clearly

in the answer script.
* Write the page number-on the right hand side top corner of each side
of the paper.
(i) The question paper comprises three sections, A, B and C. There are 24
questions in the question paper. All questions are compulsory.
(ii) Section A- queéstions or parts from question number 1 to 14 carrying one-
mark, comprises MCQ, VSA type questions.
They are to be answered in one word or in one sentence. _
(ili) Section B- question number 15 to 21 short answer type questions, carrying
3 marks each. Answers to these questions should not exceed 50 to 60 words.
(iv) Section C- guestion number 22 to 24 long answer type questions, carrying
S5 marks each. Answers to these questions should not exceed 80 to 90 words.
(v) Answer should be brief and to the point. Also the above mentioned word limit be

adhered to as far as possible.

SL NO QUESTIONS Marks
SECTION A
1, In the first figure,boy is trying to move a cupboard and in the 1

second he is moving it ahead.He had a push harder in the first
case than the second.The reason is

i)

(a)static friction and sliding friction are equal.
(b)static friction is greater than sliding friction.
(c)sliding friction is greater than static friction.




| (d)question does not provide sufficient data.

When a worker uses a rolling stone to sharpen the knife ,sparks
are produced.This is because

(a)light energy is produced due to friction

(b)heat energy is produced which is converted into light energy.
(c)the edge of the knife starts burning due to heat

(d)knife is a combustible substance.

If an object moves on a frictionless floor;the possibility would
be

(a)it’s speed increases as it moves on
(b)it’s speed decreases as it moves on
(c)it would stop after sometime

(d)it would never stop

While cooking on Chulha,the outer side of the vessels becomes
black.This never happens with LPG.The reasonis

(a)LPG is considered an inflammable substance.
(b)Due to production of soot.

(c)LPG undergoes complete combustion,
(d)LPG produces more heat.

Here are the characteristics of a fuel. Identify the fuel
()1t is in solid state.

(iD)It is in black colour.

(iii)It is obtained from mine

(iv)It produces soot particles on heating.

(a) Wood
(b) Coal

(c) Petrol
(d) Charcoal




6.

Deep took three pieces of clothes. He dipped one piece in
petrol, another in water and left the third piece dry.He used the
same clothes for his experiment but did not burn together.

The explanation is

Mt ’ A b s
| ; = {
| Hl i
‘ |
| i ! :
| | - | |
g ! st | - |
- =g N F & L /s 1
Dry Cloth Cloth dipped in water Cloth dipped in petrol

(a)The object starts combustion when it attains ignition
temperature.

(b)The ignition temperature of wet cloth is highest and petrol is
lowest.

(c)The ignition temperature of cloth dipped in petrol is highest
and wet cloth is lowest.

(d)Data ts incomplete

Ve What should be removed from the produce just before its
storage? : ;
(a)Fungicide {(c)Pesticides
(b)Grain (d)Moisture
8 (trass seeds are kept in different environments as shown below

Choose the condition in which seeds will germinate.
Room temperature {20°C) Fridge 14°C)

o T S A A TR % i sy

Bestbingd,
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(a) Test tube A (b) Test tube B (c) Test tube C
(d) Test tube D




(1) Cotton (111) Groundnut
(n)_ .\_that (1v) Pea l
(a&) I & 111 (b)] & 1v (c) i & 1v (d) n & 1v

Choose the Kharif crop from the option given below \ lﬁ

—

10.

Two identical metal sheets, A and B, are rubbed with paper and
sandpaper respectively. Which one of them will shine more?

—

e e

11

Sai’s mothcr applied oil on the hinges of the door to avoid the
creaking sound.How will you justify the act?

12.

How can fluid friction be minimized?

13.

Why isn’t hydrogen gas used as a domestic or industrial fuel,
although 1t has a very high calorific value?

14.

Place a short candle and a slightly taller candle in a small dish
filled with baking soda. Place the dish at the bottom of a large
bewl. Light both the candles as shown in the diagram. Then pour
vinegar into the dish of baking soda. Take care. Do not pour
vinegar on the candles. Observe the foaming reaction. What
happens to the candles? Give a reason.

SECTION B

13;

Give reason

(a)Porters make use of trolleys to carry heavy luggage in a
railway station.

(b)Skating on a road is more difficult than skiing on ice or

surfing on waves.
(c)Brake pads are used in the vehicles.




(a)In a school building there are four ways with equal lengthto |3
r.each the main gate. First is the main path paved with polished
tiles, second is a concrete path, third is paved with sand, and the
fourth one is paved with gravel which is used for four wheelers.
Rahul has a sprain on his right leg and the doctor advised him
not to give much strain to that leg. Which of the paths should he
select? Give reason

(b)Define friction.

s

During a class discussion on ‘fuels for household’ Sarita 3
suggested petrol. But her teacher said it is not a safe fuel for
household activity and asked her to sit. Sarita wondered why
petrol can’t be used as a fuel for household activity though its

calorific value is high.
e Why is petrol not a safe fuel for household activity?

o What fuels do we use in our houses?
e Define calorific value.

18.

(a)Distinguish between Rapid combustion and Spontaneous

combustion
(b)Define Ignition temperature.

19.

Identify the following devices and list any one use.

v
A

ot oah Oitn - AT
.

20.

(a) Name the practice followed for large scale rearing of animals

What facilities are provided to farm animals?
(b) People living in coastal areas mostly consume fish Justify.

21,

(a) Paddy cannot be grown in the winter season .Give reason.
(b)Why is burning of stubs after harvesting a bad practice?
(c) How can the weeds affect the crops grown in the fields?

SECTION C




(a)Why is it difficult to drive on a wet road?
(b) Boats and airplanes are made in streamiined shape Fplain
(c)What is the cause of friction”?

J[

()60 kg of fuel was compietely burnt for an experiment. The
amount of heat energy was found to be | 80,000 kJ_ Calculate
the calorific value of the fuel

(b)Eaplain greenhouse effect

24

(a) Diffe rentiate between manure and fertilizer

(b) Exp 1ain the natural methods of replenishment of nutrients in
the soil

(c)What are weedicides? Give an example.

-
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Note: All questions are compulsory.

Question 1 to 13 are multiple choice questions which carry 1 mark
each.

Question 14 to 17 carry 3 marks each.

Question 18 to 22 carry 5 marks each.

1. Multiple Choice Questions: 13x1=13

1. Agarias, a community living in Central India specialize in

a. weaving b. Iron smelting C. mining d. dyeing (1m)
2. Tipu's sword was madeof

a. Stainless steel b. wootz steel  ¢. Bio steel d. Non steel (1m)
3. The British government enacted legislation banning the use of printed

cotton textiles known as .

a. Chintz Act b. Mosul Act ¢. Indigo Act  d. Calico Act (Im)

4. Ram Jethmalani fought his very first case at theageof . (Im)

a.16 b. 17 c. 18 d.19

5. Police file a in the court. (1m)

a. Charge sheet b. marks sheet c¢. grade sheet d. case sheet

6. The Complainant has a right to get a free copy of the FIR
from the police. (1m)

a. Fundamentai b. legal c. political d. economic

7. FIR is . (Im)

a. First Intelligent Report b. First Investigation Report

c. First Information Report d. First Intellectual Report




\
\
8. It refers to the act of being kept in illegal custody by the police. (1m) \\

a. Accused b. Offence

c. Detention d. Cognizable

9. Which Article of the constitution guarantees certain fundamental rights to

every arrested person?

(1m)
a. Article 22 b. Article 19 c. Article 21 d. Article 15
10. In Mexico shifting agriculture is called- (1m)
a. Ladang b.Jhumming c.Milpa d.Roca
11. Staple diet of tropical and subtropical region- (1m)
a.Maize b.Wheat c.Millets d.Rice
12. Wheat is grown in India in- (1m)
a.Summer b.Winter ¢.Monsoon d.None of the above
13. The crop that is known as coarse grain- (1m)
a.Millet b.Wheat c. Rice d.Flax
14.a. Name two fibre crops. (1m)
b. Mention the climatic conditions required for their growth (2m)
15. a. Who are weavers? (1m)
b. Name any two famous weaving communities of India. (2m)
16. Describe the importance of the Public prosecutor. (3m)
17. List any 3 fundamental rights that the constitution and criminal law
guarantee to every arrestee person. (3m)
18. What helped TISCO expand steel production during the First World War?
(5m)
19. a. Mention any 2 varieties of cloth produced in India during the 18%
century? (1m)

b. Who urged people to boycott imported textiles and use hand-spun and

hand woven cloth.

c. How did the development of cotton industries in Britain affect the textile

producer in India?

(1m)

(3m)

|
|
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20. a.What do you understand by “Fair Trial”?
b. Explain the role of a Judge in the court?

21. a. Define Organic Farming.

b. What is agricultural development?

¢. Mention the aim of food security.

22. a. List out the main features of commercial farming.

b. Explain Plantation farming.

(2m)
(3m)
(1m)
(2m)
(2m)
(3m)
(2m)



